ALPINE LANDSCAPE CONSULTANTS
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LATERAL LINE FRICTION-FACTOR Fg =P, x P,
. LC
Fg - amount of allowable PSI loss per 100 ft. of pipe, regardless of pipe size.
P, - operating pressure of sprinkler head (PSI).
P, - allowable PSI variation (max. is 20% = insert .20 for Pv)'

L. - length of pipe to furthest head (in hundreds of feet).

x ——
MAIN LINE FRICTION-FACTOR Fp = VE x P,
- In
Fp - amount of allowable PSI loss per 100 ft. of pipe, regardless of pipe size.
Vp - min. PSI required at inlet of most distant zone control valve.
P, - allowable PSI variation (10%-20% = insert .10-.20 for Pv).
L, - length of main line to farthest valve (in hundreds of feet).
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SURGE PRESSURE P, =Pg + [ Vx Ly x (7.0)
t
P, - total PSI during surge .(should not exceed burst pressure rating of plastic
pipe; which for PVC pipe is 2.5-2.8 times the operating pressure rating).
Pg - operating pressure of the sprinkler system.
V - velocity of flow of water in the system (ft/sec).
Lp - length of main line to zone control valve (in hundreds of feet).
t - valve closing time (seconds).
X
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SPRAY PRECIP. RATE P, = (96.3) x gpm DRIP PRECIP, RATE P, = (1.6) x gph
(in/hr) Sx S (in/hr) Sx8S

gpm - gal/min applied to area by full-circle sprinkler.
gph - gal/hr rating of emitter.

S - spacing between rows in ft. (2nd "g" = [(.866) x S] for triangular spacing).
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SPRINKLER ZONE OPERATING TIME T=1x (60)

P, x D
- operating time (min/day).
- irrigation requirement of plantings (inches/week).

precipation rate of sprinkler zone (inches/hour).
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- days available to irrigate (days/week).
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